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Introduction
In RAN4-92Bis, there was a WF [1] agreed on the SRS carrier switching requirements. The WF listed quite a few open issues. In this paper, we provide our view on interruptions.  
Discussion  
One of the open issues in defining the interruption requirements for SRS carrier switching was if we should define the requirements for the worst case UE capability or define multiple sets. AS listed in the WF 
Interruption requirements
Option 1: define requirements for 900us NR SRS carrier switching time
Option 2: define requirements for 900us and [TBD] NR SRS carrier switching time respectively
Option 3: define requirements for any NR SRS carrier switching time if it is justified
Option 4: Other option is not precluded.
Note: Further check on SRS carrier switching time definition
Whether the interruption depends on SRS switching time or pure RF tuning time
It our view that to keep the specification simple we should only define the interruptions for the worst-case scenario. We can just define the interruptions for 900us RF switching time. Since in any scenario it is in UE’s best interest to take interruptions no longer than needed, a UE would always take the shortest possible interruptions. Defining the requirements for the worst case gives an upper bound to the network. 
Proposal 1: Define only one set of requirements for the worst case of RF switching time. 
The SRS carrier switching procedure includes the UE switching to target frequency, transmitting up to 6 SRS symbols and the tuning back. Depending on the source cell SCS it would take up to the following in terms of completing the procedure. 
 
	SCS
	15 kHz 
	30 kHz
	60 kHz
	120 kHz

	Time (in us)
	2228.5
	2014.2
	1907.1
	1853



Thus, in sync scenarios without accounting for any TA command the above would translate to the following in terms of interruptions (in slots)

Table 2‑1: Interruptions in sync scenario without accounting for TA
	Victim cell SCS (in kHz)
	Aggressor cell SCS (in kHz)

	
	15
	30
	60
	120

	15
	3
	3
	2
	2

	30
	5
	5
	4
	4

	60
	9
	9
	8
	8

	120
	18
	17
	16
	15



In addition to the above, the UE would have some amount of TA which would cause one more slot of interruption. Also note that including the TA also covers the maximum number of slots that can be interrupted under async scenario too.
Thus, the interruptions for SCS carrier switching translate to
[bookmark: _Ref24056983]Table 2‑2: Interruptions for SRS carrier switching with TA or in async scenario
	Victim cell SCS (in kHz)
	Aggressor cell SCS (in kHz)

	
	15
	30
	60
	120

	15
	4
	4
	3
	3

	30
	6
	6
	5
	5

	60
	11
	10
	9
	9

	120
	20
	18
	17
	16



Proposal 2: Interruptions for SRS switching should be as defined in Table 2‑2.
Conclusions 
Proposal 1: Define only one set of requirements for the worst case of RF switching time. 
Proposal 2: Interruptions for SRS switching should be as defined in Table 2‑2 (reproduced below).
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